Period #, Task 1
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1. First Name Initial (First Letter Only) *

2. Last Name Initial (First Letter Only) *

3. Answer the question below. Note that you can click on the link provided below the problem if you would like to see the solution to a very

similar problem.

If n = 13, what is the value of 15 — (n+4)?

A)2

B) 6

C)—2

D) 32

E) None of the above

Mark only one oval.
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If you would like help, the link below provides a video that explains the solution to a very similar problem:

https://mathvideos.info/155T421
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